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ECONOMICS

PAPER—II

Note : This paper contains fifty (50) multiple choice questions, each question carrying
two (2) marks.  Attempt all of them.

1. If two commodities are good substitutes, indifference curve will :

(A) be a straight line (B) approach a right angle

(C) approach a straight line (D) slope upwards

2. The firms in the modern world, use reserve capacity to :

(A) ensure greater flexibility in operations

(B) reduce costs

(C) reduce wages

(D) reduce taxes

3. If the firms are behaving on the basis of average cost principle, orderly coordination is
often attained by :

(A) Price leadership (B) Price cutting

(C) High cost firm (D) None of the above

4. For any given individual preferences, which are reflexive, transitive and complete,
majority rule based social preferences are :

(i) Reflexive (ii) Transitive (iii) Complete

Select correct code :

Code :

(A) All above are true

(B) Only (i) and (iii) are true

(C) Only (i) and (ii) are true

(D) Only (ii) and (iii) are true

5. If demand curve assumes the shape of a rectangular hyperbola, price elasticity is equal
to :

(A) zero (B) less than one

(C) greater than one (D) one
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¥ÍüàææS˜æ

ÂýàÙÂ˜æ—II

ÙôÅU Ñ §â ÂýàÙÂ˜æ ×ð¢ Â¿æâ (50) ßSÌéçÙD ÂýàÙ ãñ¢Ð  ÂýˆØð·¤ ÂýàÙ ·ð¤ Îô (2) ¥¢·¤ ãñ¢Ð  âÖè ÂýàÙô¢ ·ð¤ ©•æÚU
ÎèçÁ°Ð

1. ØçÎ Îæð Â‡Ø-ÂÎæÍü ©•æ× SÍæÙæÂóæ ãñ́ Ìæð ÌÅSÍ ß·ý¤ -

(A) °·¤ âèÏè Úð¹æ ·ð¤ M¤Â ×ð´ ãæð»æ (B) °·¤ â×·¤æð‡æ ·¤è ¥æðÚ Áæ°»æ

(C) °·¤ âèÏè Úð¹æ ·¤è ¥æðÚ Áæ°»æ (D) ª¤Šßü»æ×è ãæð»æ

2. ¥æÏéçÙ·¤ çßàß ×ð´ È¤×æðZ mæÚæ ¥æÚçÿæÌ ÿæ×Ìæ ·¤æ ©ÂØæð» ç·¤Øæ ÁæÌæ ãñÐ

(A) ·¤æØüâ´¿æÜÙ ×ð´ ¥çÏ·¤ Ü¿èÜæÂÙ âéçÙçà¿Ì ·¤ÚÙð ·ð¤ çÜ°

(B) ·¤è×Ìæð´ ·¤æð ·¤× ·¤ÚÙð ·ð¤ çÜ°

(C) ×ÁÎêÚè ·¤æð ·¤× ·¤ÚÙð ·ð¤ çÜ°

(D) ·¤Úæð´ ·¤æð ·¤× ·¤ÚÙð ·ð¤ çÜ°

3. ØçÎ È¤×ü ¥æñâÌ ·¤è×Ì çâhæ‹Ì ·ð¤ ¥æÏæÚ ÂÚ ÃØßãæÚ ·¤Ú Úãè ãñ´ Ìæð âéÃØßçSÍÌ â×‹ßØÙ ·¤æð ÕãéÏæ §â·ð¤
mæÚæ ÂýæŒÌ ç·¤Øæ ÁæÌæ ãñ Ñ

(A) ·¤è×Ì ÙðÌëˆß (B) ·¤è×Ì ×ð´ ·¤ÅæñÌè

(C) ©“æ-·¤è×Ì È¤×ü (D) §Ù×ð´ âð ç·¤âè ·ð¤ mæÚæ Ùãè´

4. Îè »§ü ç·¤‹ãè´ ßñØç•Ì·¤ ßÚèØÌæ¥æð´ Áæð ÂÚæßÌèü, â´·ý¤æ×è ÌÍæ Âê‡æü ãñ´ - ·ð¤ çÜ° Õãéâ´•Ø·¤ çÙØ× ¥æÏæçÚÌ
âæ×æçÁ·¤ ßÚèØÌæ°¡ ãñ´ Ñ

(i) ÂÚæßÌèü (ii) â´·ý¤æ×è (iii) Âê‡æü

âãè ·¤æðÇ ¿éÙð Ñ

·¤æðÇ Ñ

(A) ©ÂÚæð•Ì âÖè âãè ãñ́

(B) ·ð¤ßÜ (i) ÌÍæ (iii) âãè ãñ´

(C) ·ð¤ßÜ (i) ÌÍæ (ii) âãè ãñ´

(D) ·ð¤ßÜ (ii) ÌÍæ (iii) âãè ãñ´

5. ØçÎ ×æ´» ß·ý¤ °·¤ ¥æØÌæ·¤æÚ ¥çÌÂÚßÜØ ·¤æ ¥æ·¤æÚ Üð ÜðÌæ ãñ Ìæð ×êËØ Üæð¿ §â·ð¤ ÕÚæÕÚ ãæð»æ Ñ

(A) àæê‹Ø (B) °·¤ âð ·¤×

(C) °·¤ âð ¥çÏ·¤ (D) °·¤
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6. Let the consumption function be C=Rs. 30+0.80 Υ and investment spending be
I=Rs. 70−2 i, where i is the rate of interest.  Then an increase in autonomous investment
by Rs. 30 would shift the IS curve :
(A) To the left by Rs. 150 (B) To the right by Rs. 150
(C) To the right by Rs. 30 (D) To the left by Rs. 30

7. According to Milton Friedman, quantity theory of Money deals with :
(A) Prices (B) Income
(C) Supply of money (D) Demand for money

8. The concept of Multiplier was introduced for the first time by :
(A) R.F. Kahn (B) J.M. Keynes
(C) R.F. Harrod (D) V.K.R.V. Rao

9. Sustainable development addresses to :
(A) the needs of the present generation.
(B) the needs of the future generation.
(C) the needs of the present generation without compromising the needs of the future

generations.
(D) the needs of the future generations, without compromising on the needs of the

present generation.

10. Sen’s measure of poverty includes :
(A) The Head Count ratio.
(B) The Head Count ratio and the poverty-gap ratio.
(C) The poverty-gap ratio and the distribution of income among the poor.
(D) The Head Count ratio, the poverty-gap ratio, and the distribution of income among

the poor.

11. For a planner, in the context of choice of techniques, the propriety of a technique is
dictated by :
(A) The factor endowments (B) The level of development
(C) The character of technical progress (D) The plan objectives

12. Mode of production refers to :
(A) Forces of production
(B) Methods of production
(C) Relations of production
(D) The duality of Forces of Production and Relations of Production

13. Unlimited supply of labour presumes :
(A) Inelastic supply of labour (B) Infinitely elastic supply of labour
(C) Redundancy of labour (D) Disguised unemployment
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6. ØçÎ ©ÂÖæð» È¤ÜÙ C=Rs. 30+0.80 Υ ¥æñÚ çÙßðàæ ÃØØ I=Rs. 70−2 i, Øãæ¡ i •ØæÁ ·¤è ÎÚ ãñ Ìæð SßæØ•æ
çÙßðàæ ×ð´ 30 L¤. ·¤è ÕÉ¸æñÌè âð IS ß·ý¤ ×ð´ :
(A) 150 L¤. âð ÕæØð´ ·¤æð SÍæÙæ´ÌÚ‡æ ãæð»æ (B) 150 L¤. âð ÎæØð´ ·¤æð SÍæÙæ´ÌÚ‡æ ãæð»æ

(C) 30 L¤. âð ÎæØð´ ·¤æð SÍæÙæ´ÌÚ‡æ ãæð»æ (D) 30 L¤. âð ÕæØð´ ·¤æð SÍæÙæ´ÌÚ‡æ ãæð»æ

7. ç×ËÅÙ Èý¤èÇ×ñÙ ·ð¤ ¥ÙéâæÚ ×éÎýæ ·ð¤ ×æ˜ææˆ×·¤ çâhæ‹Ì ·¤æ â´Õ´Ï §ââð ãñ Ñ

(A) ·¤è×Ìæð´ (B) ¥æØ
(C) ×éÎýæ ·¤è ¥æÂêç•æü (D) ×éÎýæ ·¤è ×æ´»

8. »é‡æ·¤ ·¤è ¥ßÏæÚ‡ææ ·¤æð âÕâð ÂãÜð ÕÌÜæÙð ßæÜð ·¤æ Ùæ× ãñ Ñ

(A) ¥æÚ. °È¤. ·¤æã÷Ù (B) Áð. °×. ·ð¤‹â

(C) ¥æÚ. °È¤. ãæÚæðÇ (D) ßè. ·ð¤. ¥æÚ. ßè. Úæß

9. ÏæÚ‡æèØ çß·¤æâ §Ù×ð´ âð ç·¤â·¤æð â´ÕæðçÏÌ ãñ Ñ
(A) ßÌü×æÙ ÂèÉ¸è ·¤è ¥æßàØ·¤Ìæ°¡

(B) ¥æ»æ×è ÂèÉ¸è ·¤è ¥æßàØ·¤Ìæ°¡
(C) ¥æ»æ×è ÂèçÉ¸Øæð´ ·¤è ¥æßàØ·¤Ìæ¥æð´ âð â×ÛææñÌð ç·¤° çÕÙæ ßÌü×æÙ ÂèÉ¸è ·¤è ¥æßàØ·¤Ìæ°¡

(D) ßÌü×æÙ ÂèÉ¸è ·¤è ¥æßàØ·¤Ìæ¥æð´ âð â×ÛææñÌæ ç·¤° çÕÙæ ¥æ»æ×è ÂèçÉ¸Øæð´ ·¤è ¥æßàØ·¤Ìæ°¡

10. âðÙ mæÚæ âéÛææ° »Øð »ÚèÕè ·¤è ×æÂ ×ð́ çÙ•ÙçÜç¹Ì àææç×Ü ãñ́ Ñ

(A) ãðÇ-·¤æ©´Å ÚðçàæØæð
(B) ãðÇ ·¤æ©´Å ÚðçàæØæð ÌÍæ ÂæßÅèü-»ñÂ ÚðçàæØæð

(C) ÂæßÅèü-»ñÂ ÚðçàæØæð ÌÍæ »ÚèÕæð´ ·ð¤ Õè¿ ¥æØ ·¤æ çßÌÚ‡æ
(D) ãðÇ-·¤æ©´Å ÚðçàæØæð, ÂæßÅèü-»ñÂ ÚðçàæØæð ÌÍæ »ÚèÕæð´ ·ð¤ Õè¿ ¥æØ ·ð¤ çßÌÚ‡æ ·¤æ ÚðçàæØæð

11. °·¤ çÙØæðÁ·¤ ·ð¤ çÜ° Ì·¤Ùè·¤æð´ ·ð¤ ¿ØÙ ·ð¤ â´ÎÖü ×ð´, Ì·¤Ùè·¤ ·¤æ ¥æñç¿ˆØ §â·ð¤ mæÚæ çÙÏæüçÚÌ ãæðÌæ ãñÐ
(A) Èñ¤•ÅÚ °‹Çæð×ð‡Å (âæÏÙ â•Â‹ÙÌæ) (B) çß·¤æâ ·¤æ SÌÚ

(C) Ì·¤Ùè·¤è Âý»çÌ ·¤æ ¥çÖÜÿæ‡æ (D) ØæðÁÙæ ·ð¤ ©gðàØ

12. ©ˆÂæÎÙ ·¤è ÚèçÌ â´ÎçÖüÌ ·¤ÚÌè ãñ Ñ

(A) ©ˆÂæÎÙ ·ð¤ ÕÜ (B) ©ˆÂæÎÙ ·¤è çßçÏØæ¡
(C) ©ˆÂæÎÙ ·ð¤ â•ṌÏ (D) ©ˆÂæÎÙ ·ð¤ ÕÜæð´ ¥æñÚ ©ˆÂæÎÙ ·ð¤ â´Õ´Ïæð´ ·ð¤ ×ŠØ mñÏÌæ

13. Ÿæ× ·¤è ¥âèç×Ì ¥æÂêçÌü ÂêßæüÙé×æÙ ·¤ÚÌè ãñ Ñ

(A) Ÿæ× ·¤è ¥Üæð¿è ¥æÂêç•æü (B) Ÿæ× ·¤è ¥ÂçÚç×Ì Üæð¿è ¥æÂêç•æü
(C) Ÿæ× ·¤è ¥æßàØ·¤Ìæ âð ¥çÏ·¤Ìæ (D) ÀÎ÷× ÕðÚæðÁ»æÚè
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14. Who among the following gave the law of increasing State Activities ?

(A) Musgrave (B) Wiseman Peacock

(C) Wagner (D) Dalton

15. Which of the following is not a development expenditure of the State ?

(A) Medical and Health (B) Education

(C) Debt Services (D) Development of Agriculture

16. According to Dalton, the total social advantage becomes maximum when taxation and
expenditure are carried to a point where, :

(A) Marginal Social Sacrifice (MSS) > Marginal Social Benefit (MSB)

(B) Marginal Social Sacrifice (MSS) < Marginal Social Benefit (MSB)

(C) Marginal Social Sacrifice (MSS)=Marginal Social Benefit (MSB)

(D) None of the above

17. Devaluation, will improve the balance of payment deficit, if sum of elasticity of exports
and imports of the devaluing country is :

(A) greater than one (B) less than one

(C) equal to zero (D) negative

18. From April 1999, Jawahar Rojgar Yojana has been renamed as :

(A) Jawahar Gram Samriddhi Yojana

(B) Jawahar Swarna Jayanthi Yojana

(C) Jawahar Samriddhi Yojana

(D) Jawahar Rural Development Yojana

19. In the year 2000 - 2001 External Debt GDP ratio in India was :

(A) 15.3% (B) 9.1% (C) 7.1% (D) 5.4%

20. Which of the following is not a measure of dispersion ?

(A) Mean of deviations (B) Variance

(C) Range (D) Inter-quartile range

21. GDP deflator is an index of type :

(A) Paasche index (B) Laspyres index

(C) Fisher index (D) Divisia index
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14. çÙ•ÙçÜç¹Ì ×ð́ âð ÒÜæò ¥æòÈ¤ §´ç·ý¤çÁ´» SÅðÅ °ñç•ÅçßçÅÁÓ ·¤æ ÂýçÌÂæÎ·¤ ·¤æñÙ ãñ?

(A) ×S»ýðß (B) ßæ§Á×ñÙ Âè·¤æò·¤

(C) ßð»ÙÚ (D) ÇæËÅÙ

15. çÙ•ÙçÜç¹Ì ×ð́ âð ·¤æñÙ Úæ’Ø ·¤æ çß·¤æâ-ÃØØ Ùãè´ ãñ?

(A) ç¿ç·¤ˆâæ °ß´ SßæS‰Ø (B) çàæÿææ

(C) «¤‡æ âðßæ°¡ (D) ·ë¤çá ·¤æ çß·¤æâ

16. ÇæËÅÙ ·ð¤ ¥ÙéâæÚ, â·¤Ü âæ×æçÁ·¤ ÜæÖ ¥çÏ·¤Ì× ãæð ÁæÌæ ãñ ÁÕ ·¤Ú ÚæðÂ‡æ ¥æñÚ ÃØØ ·¤æð ©â çÕ‹Îé Ì·¤ Üð
ÁæØæ ÁæØ Áãæ¡ Ñ

(A) âè×æ´Ì âæ×æçÁ·¤ ·é¤ÕæüÙè (MSS) > âè×æ´Ì âæ×æçÁ·¤ ÜæÖ (MSB)

(B) âè×æ´Ì âæ×æçÁ·¤ ·é¤ÕæüÙè (MSS) < âè×æ´Ì âæ×æçÁ·¤ ÜæÖ (MSB)

(C) âè×æ´Ì âæ×æçÁ·¤ ·é¤ÕæüÙè (MSS)=âè×æ´Ì âæ×æçÁ·¤ ÜæÖ (MSB)

(D) §Ù×ð´ âð ·¤æð§ü Ùãè´

17. ¥ß×êËØÙ Öé»ÌæÙ ƒææÅæ ·ð¤ â´ÌéÜÙ ×ð´ âéÏæÚ ·¤Úð»æ, ØçÎ ¥ß×êËØÙ ·¤ÚÙð ßæÜð Îðàæ ·ð¤ çÙØæüÌ ¥æñÚ ¥æØæÌ ·ð¤
Üæð¿æð´ ·¤æ Øæð» ãñ Ñ

(A) °·¤ âð ¥çÏ·¤ (B) °·¤ âð ·¤×

(C) àæê‹Ø ·ð¤ ÕÚæÕÚ (D) Ù·¤æÚæˆ×·¤

18. ¥ÂýñÜ 1999 âð ÁßæãÚ ÚæðÁ»æÚ ØæðÁÙæ ·¤æ ÙØæ Ùæ× ãñ Ñ

(A) ÁßæãÚ »ýæ× â×ëçÎ÷Ï ØæðÁÙæ (B) ÁßæãÚ Sß‡æü ÁØ‹Ìè ØæðÁÙæ

(C) ÁßæãÚ â×ëçÎ÷Ï ØæðÁÙæ (D) ÁßæãÚ »ýæ×è‡æ çß·¤æâ ØæðÁÙæ

19. âÙ÷ 2000-2001 ×ð´ ÖæÚÌ ×ð´ Õæã÷Ø «¤‡æ ·¤æ â·¤Ü ƒæÚðÜê ©ˆÂæÎ âð ¥ÙéÂæÌ Íæ Ñ
(A) 15.3% (B) 9.1% (C) 7.1% (D) 5.4%

20. çÙ•ÙçÜç¹Ì ×ð́ âð ·¤æñÙ çßÿæðÂ‡æ ·¤æ ×æÂ Ùãè´ ãñ?

(A) çß¿ÜÙæð́ ·¤æ ×æÂ (B) ÂýâÚ‡æ

(C) Úð́Á (D) ¥´ÌÚ-¿ÌéÍü·¤ Úð´Á

21. GDP çÇ•ÜðÅÚ ç·¤â Âý·¤æÚ ·¤æ §´Çð•â ãñ Ñ

(A) Âæàæð §´Çð•â (B) ÜæâÂæ§Úðâ §´Çð•â

(C) çÈ¤àæÚ §´Çð•â (D) çÇçßçâØæ §´Çð•â
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22. There are 50 students in a class.  Their mean weight, µ=55 kg and standard deviation,
σ=17 kg.  Two students from the class whose weights are 47 kg and 58 kg respectively
leave the school and two new students with weights of 50 kg and 55 kg respectively
join the class.  Then the new mean weight µ1 and s.d., σ1 (in kgs) are :

(A) µ1=55, σ1=17 (B) µ1=55, σ1 < 17

(C) µ1 < 55, σ1 > 17 (D) µ1 > 55, σ1=17

Read the passage given below and answer questions 23 - 25 based on your understanding
of the passage :

Given any segment of the demand curve, any change in price within that segment,
will leave the total expenditure of the consumer unchanged, if and only if, the are
elasticity is equal to unity.  Further, any intermediate change in price will also leave the
total expenditure of the consumer unchanged, if point elasticity is at each point of the
demand curve is equal to unity.

23. Which of the following stands for Arc elasticity ?

(A)
quantities of sum

prices of sum
 . 

p 
q 

∆

∆
(B)

21

21
q  q
p  p

 . 
q 
p 

+

+

∆

∆

(C)
21

21
q  q
p  p

 . 
p 
q 

+

−

∆

∆
(D)

21

21
q  q
p  p

 . 
p 
q 

−

+

∆

∆

24. If elasticity of a non-linear demand curve remains constant throughout, the slope of
the curve will :

(A) be positive

(B) remain unchanged

(C) vary from point to point

(D) none of the above

25. If a change in price gives us different values of elasticity for a rise and fall in price, we
are then using :

(A) Point method

(B) Arc method

(C) Total outlay method

(D) Expenditure method
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22. °·¤ ·¤ÿææ ×ð´ 50 Àæ˜æ ãñ´Ð  ©Ù·ð¤ ßÁÙ ·¤æ ×æŠØ, µ=55 kg ÌÍæ ×æÙ·¤ çß¿Ü·¤ σ=17 kg ãñÐ ©â ·¤ÿææ ×ð´
Îæð Àæ˜æ çÁÙ·ð¤ ßÁÙ 47 kg ÌÍæ 58 kg ãñ´ S·ê¤Ü ÀæðÇ ÎðÌð ãñ´, ÌÍæ Îæð ÙØð Àæ˜æ çÁÙ·ð¤ ßÁÙ 50 kg ÌÍæ 55 kg

ãñ´, ·¤ÿææ ×ð´ ¥æ ÁæÌð ãñ´Ð ÌÕ ßÁÙ ·¤æ ÙØæ ×æŠØ, µ1 ÌÍæ ×æÙ·¤ çß¿Ü·¤, σ1 ãñ´ Ñ

(A) µ1=55, σ1=17 (B) µ1=55, σ1 < 17

(C) µ1 < 55, σ1 > 17 (D) µ1 > 55, σ1=17

çÙ•ÙçÜç¹Ì ©hÚ‡æ ·¤æð ÂÉð̧ ÌÍæ ÂýàÙ â´•Øæ 23 - 25 ·ð¤ ©•æÚ §â ©Î÷ÏÚ‡æ ·ð¤ ¥æÏæÚ ÂÚ Îð́ Ñ

×æ´» ß·ý¤ ·ð¤ ç·¤âè ¹´Ç ·ð¤ ¥´Ì»üÌ ·¤è×Ì ×ð´ ÂçÚßÌüÙ ©ÂÖæð•Ìæ ·ð¤ â·¤Ü ÃØØ ·¤æð ¥ÂçÚßçÌüÌ ÀæðÇ¸ Îð»æ ØçÎ,
¥æñÚ ·ð¤ßÜ ØçÎ ¿æÂ Üæð¿ §·¤æ§ü ·ð¤ ÕÚæÕÚ ãñÐ ÂéÙÑ ·¤è×Ì ×ð´ ·¤æð§ü ×÷ŠØßÌèü ÂçÚßÌüÙ ©ÂÖæð•Ìæ ·ð¤ â·¤Ü ÃØØ
·¤æð ¥ÂçÚßçÌüÌ Ú¹ð»æÐ ØçÎ ×æ´» ß·ý¤ ·ð¤ ÂýˆØð·¤ çÕ‹Îé ÂÚ çÕ‹Îé-Üæð¿ §·¤æ§ü ·ð¤ ÕÚæÕÚ ãñÐ

23. çÙ•ÙçÜç¹Ì ×ð́ âð ·¤æñÙ âæ ¿æÂ-Üæð¿ ·¤æ ÂýçÌçÙçÏˆß ·¤ÚÌæ ãñ?

(A) . 
p 
q 

∆

∆ ’¬¦ıÍŽ×“=’¬Ž=ˆŽ×Ÿ

ıŽ∂ŽŽ√Ž×“=’¬Ž=ˆŽ×Ÿ
(B)

21

21
q  q
p  p

 . 
q 
p 

+

+

∆

∆

(C)
21

21
q  q
p  p

 . 
p 
q 

+

−

∆

∆
(D)

21

21
q  q
p  p

 . 
p 
q 

−

+

∆

∆

24. ØçÎ °·¤ ¥Úð¹èØ ×æ´» ß·ý¤ ·¤æ Üæð¿ âÎæ ãè çSÍÚ ÚãÌæ ãñ Ìæð ß·ý¤ ·¤æ ÉÜæÂ Ñ

(A) ÏÙæˆ×·¤ ãæð»æ

(B) ¥ÂçÚßçÌüÌ Úãð»æ

(C) çÕ‹Îé-ÎÚ çÕ‹Îé ÕÎÜð»æ

(D) §Ù×ð´ âð ·é¤À Ùãè´ ãæð»æ

25. ØçÎ ·¤è×Ì ·¤æ ·¤æð§ü ÂçÚßÌüÙ ·¤è×Ì ·ð¤ ©Ææß ÌÍæ ç»ÚæßÅ ×ð´ ã×ð´ Üæð¿ ·ð¤ çßçÖóæ ×êËØ ÎðÌæ ãñ Ìæð ã×
çÙ•ÙçÜç¹Ì ·¤æ ÂýØæð» ·¤Ú Úãð ãñ́ Ñ

(A) çÕ‹Îé çßçÏ

(B) ¿æÂ çßçÏ

(C) â·¤Ü Üæ»Ì (ÅæðÅÜ ¥æ©ÅÜð) çßçÏ

(D) ÃØØ çßçÏ
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26. Starting with the earliest, arrange the following in the chronological order of
development of general theory of equilibrium :

(i) R. Cantillon

(ii) F. Quesnay

(iii) L. Walras

(iv) W. Leontief

Code :

(A) (iv), (i), (ii), (iii) (B) (iii), (iv), (i), (ii)

(C) (i), (ii), (iii), (iv) (D) (ii), (iii), (iv), (i)

27. Starting with the earliest, arrange the following authors in the chronological order of
their contribution to welfare economics :

(i) J. Bentham

(ii) Y. Pareto

(iii) M. Marshall

(iv) J. Hicks

Code :

(A) (iii), (ii), (iv), (i) (B) (i), (iii), (ii), (iv)

(C) (iv), (i), (iii), (ii) (D) (ii), (iv), (i), (iii)

28. Arrange the following in descending order of their share in Global FDI receipts
in 2002 :

(i) Hong - Kong

(ii) China

(iii) India

(iv) Korea

Code :

(A) (ii), (i), (iii), (iv) (B) (iv), (ii), (i), (iii)

(C) (iii), (iv), (ii), (i) (D) (i), (iii), (iv), (ii)
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26. âÕâð ÂãÜð ßæÜð âð ÂýæÚ•Ö ·¤ÚÌð ãé°, çÙ•ÙçÜç¹Ì ·¤æð â´ÌéÜÙ ·ð¤ âæ×æ‹Ø çâhæ‹Ì ·ð¤ çß·¤æâ ·ð¤ ·¤æÜæÙé·ý¤×
×ð´ ÃØßçSÍÌ ·¤Úð´

(i) ¥æÚ. ·ñ¤‡ÅèÜæðÙ

(ii) °È¤. •ßð´âÙð

(iii) °Ü. ßæËÚâ

(iv) Ç•Üê. çÜ¥æð́ÅèÈ¤

·¤æðÇ Ñ

(A) (iv), (i), (ii), (iii) (B) (iii), (iv), (i), (ii)

(C) (i), (ii), (iii), (iv) (D) (ii), (iii), (iv), (i)

27. âÕâð ÂãÜð ßæÜð âð ÂýæÚ•Ö ·¤ÚÌð ãé°, çÙ•ÙçÜç¹Ì Üð¹·¤æð́ ·¤æð, ·¤ËØæ‡æ ¥ÍüàææS˜æ ×ð́ ©Ù·ð¤ Øæð»ÎæÙ ·ð¤
·¤æÜ·ý¤×æÙéâæÚ ÃØßçSÍÌ ·¤Úð´ Ñ

(i) Áð. Õð´Í×

(ii) ßæ§ü. ÂðÚðÅæð

(iii) °×. ×æàæüÜ

(iv) Áð. çã•â

·¤æðÇ Ñ

(A) (iii), (ii), (iv), (i) (B) (i), (iii), (ii), (iv)

(C) (iv), (i), (iii), (ii) (D) (ii), (iv), (i), (iii)

28. çÙ•ÙçÜç¹Ì ·¤æð, 2002  ßáü ×ð´ ßñçàß·¤ °È¤.Çè.¥æ§ü. Âýæç#Øæð´ ×ð´ ©Ù·ð¤ àæðØÚ ·ð¤ ¥ßÚæðãè ·ý¤× ×ð´ ÃØßçSÍÌ ·¤Úð´

(i) ãǽ»-·¤ǽ»

(ii) ¿èÙ

(iii) ÖæÚÌ

(iv) ·¤æðçÚØæ

·¤æðÇ Ñ

(A) (ii), (i), (iii), (iv) (B) (iv), (ii), (i), (iii)

(C) (iii), (iv), (ii), (i) (D) (i), (iii), (iv), (ii)
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29. Arrange the following in descending order of their share in world exports in 2004 :

(i) China

(ii) Hong - Kong

(iii) Indonesia

(iv) Malaysia

Code :

(A) (iii), (iv), (ii), (i) (B) (i), (ii), (iv), (iii)

(C) (iv), (i), (iii), (ii) (D) (ii), (iii), (i), (iv)

30. Starting with the earliest, arrange the following authors chronologically in the context
of  development of theory of Oligopoly :

(i) E. Stackelberg

(ii) P. Sweezy

(iii) J. Bertrand

(iv) A. Cournot

Code :

(A) (ii), (i), (iii), (iv) (B) (iv), (iii), (ii), (i)

(C) (i), (ii), (iv), (iii) (D) (iii), (iv), (i), (ii)

31. Arrange the following States in the descending order of state-wise literacy rates in
India, 2001 :

(i) Kerala

(ii) Mizoram

(iii) Lakshadweep

(iv) Goa

Code :

(A) (iv), (iii), (i), (ii) (B) (i), (ii), (iii), (iv)

(C) (ii), (i), (iv), (iii) (D) (iii), (iv), (ii), (i)
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29. çÙ•ÙçÜç¹Ì ·¤æð, ßáü 2004 ×ð´ çßàß çÙØæüÌ ×ð´ ©Ù·ð¤ àæðØÚ ·ð¤ ¥ßÚæðãè ·ý¤× ×ð´ ÃØßçSÍÌ ·¤Úð´

(i) ¿èÙ

(ii) ãǽ»-·¤ǽ»

(iii) §‡ÇæðÙðçàæØæ

(iv) ×ÜðçàæØæ

·¤æðÇ Ñ

(A) (iii), (iv), (ii), (i) (B) (i), (ii), (iv), (iii)

(C) (iv), (i), (iii), (ii) (D) (ii), (iii), (i), (iv)

30. âÕâð ÂãÜð ßæÜð âð ÂýæÚ•Ö ·¤ÚÌð ãé°, ¥ËÂæçÏ·¤æÚßæÎ ·ð¤ çâhæ´Ì ·ð¤ â´ÎÖü ×ð́, çÙ•ÙçÜç¹Ì Üð¹·¤æð́ ·¤æð
·¤æÜæÙé·ý¤× ×ð´ ÃØßçSÍÌ ·¤Úð´ Ñ

(i) §ü. SÅð·ð¤ÜÕ»ü

(ii) Âè. SßèÁè

(iii) Áð. ÕÚÅþæ‡Ç

(iv) °. ·¤æñÚÙæòÅ

·¤æðÇ Ñ

(A) (ii), (i), (iii), (iv) (B) (iv), (iii), (ii), (i)

(C) (i), (ii), (iv), (iii) (D) (iii), (iv), (i), (ii)

31. ÖæÚÌ ×ð´ 2001 ×ð́ Úæ’ØæÙéâæÚ âæÿæÚÌæ ÎÚ ·ð¤ â´ÎÖü ×ð́ çÙ•ÙçÜç¹Ì Úæ’Øæð́ ·¤æð ¥ßÚæðãè ·ý¤× ×ð́ ÃØßçSÍÌ ·¤Úð́Ð

(i) ·ð¤ÚÜ

(ii) ç×ÁæðÚ×

(iii) ÜÿæmèÂ

(iv) »æðßæ

·¤æðÇ Ñ

(A) (iv), (iii), (i), (ii) (B) (i), (ii), (iii), (iv)

(C) (ii), (i), (iv), (iii) (D) (iii), (iv), (ii), (i)
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32. In the context of the development of theory of consumer behaviour, arrange the following
chronologically, starting with the earliest :

(i) Revision of demand theory

(ii) Revealed preference theory

(iii) Indifference curves analysis

(iv) Marshallian theory of consumer behaviour

Code :

(A) (iii), (iv), (i), (ii) (B) (i), (ii), (iii), (iv)

(C) (ii), (i), (iv), (iii) (D) (iv), (iii), (ii), (i)

33. Starting with the earliest, arrange the following schemes chronologically :

(i) Prime Minister’s Rozgar Yojana

(ii) Rural Employment Generation Programme

(iii) Sampoorna Grameena Rozgar Yojana

(iv) National Food for Work Programme

Code :

(A) (i), (ii), (iii), (iv) (B) (iv), (ii), (iii), (i)

(C) (iii), (iv), (ii), (i) (D) (i), (iii), (ii), (iv)

34. Match the following :

(a) J.R. Hicks (i) Differential Rent

(b) Karl Marx (ii) Four measures of consumer surplus

(c) Francis Quesmay (iii) Mode of production

(d) David Ricardo (iv) Tableau Economique

(v) Transfer earnings

Code :

(a) (b) (c) (d)

(A) (i) (iv) (ii) (iii)

(B) (ii) (iii) (iv) (i)

(C) (iii) (v) (i) (ii)

(D) (v) (ii) (iii) (iv)
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32. ©ÂÖæð•Ìæ-ÃØßãæÚ ·ð¤ çâhæ‹Ì ·ð¤ ç·¤â ·ð¤ â´ÎÖü ×ð́, âÕâð ÂãÜð ßæÜð âð ÂýæÚ´Ö ·¤Ú çÙ•ÙçÜç¹Ì ·¤æð ·¤æÜæÙé·ý¤×
×ð´ ÃØßçSÍÌ ·¤Úð´Ð

(i) ×æ´» çâhæ‹Ì ·¤æ â´àææðÏÙ

(ii) ©Î÷ƒææçÅÌ ßÚèØÌæ ·¤æ çâhæ‹Ì

(iii) ÌÅSÍ ß·ý¤ çßàÜðá‡æ

(iv) ©ÂÖæð•Ìæ-ÃØßãæÚ ·¤æ ×æàæüÜ mæÚæ ÂýçÌÂæçÎÌ çâhæ‹Ì

·¤æðÇ Ñ

(A) (iii), (iv), (i), (ii) (B) (i), (ii), (iii), (iv)

(C) (ii), (i), (iv), (iii) (D) (iv), (iii), (ii), (i)

33. ÂãÜðßæÜð âð ÂýæÚ•Ö ·¤Ú, çÙ•ÙçÜç¹Ì ØæðÁÙæ¥æð́ ·¤æð ·¤æÜ·ý¤×æÙéâæÚ ÃØßçSÍÌ ·¤Úð́

(i) ÂýÏæÙ×´˜æè ÚæðÁ»æÚ ØæðÁÙæ

(ii) »ýæ×è‡æ ÚæðÁ»æÚæðˆÂæÎ·¤ ·¤æØü·ý¤×

(iii) â•Âê‡æü »ýæ×è‡æ ÚæðÁ»æÚ ØæðÁÙæ

(iv) ÚæcÅþèØ ÖæðÁÙ °ß´ ·¤æØü ØæðÁÙæ

·¤æðÇ Ñ

(A) (i), (ii), (iii), (iv) (B) (iv), (ii), (iii), (i)

(C) (iii), (iv), (ii), (i) (D) (i), (iii), (ii), (iv)

34. ×ðÜ ÕñÆæ§üØð Ñ

(a) Áð.¥æÚ. çã•â (i) çßÖðÎ·¤ ç·¤ÚæØæ

(b) ·¤æÜü ×æ•âü (ii) ©ÂÖæð•Ìæ ¥æçÏ•Ø ·ð¤ ¿æÚ ×æÂ

(c) Âýæ´çââ •ßðS×ð (iii) ©ˆÂæÎÙ ·¤è ÚèçÌ

(d) ÇðçßÇ çÚ·¤æÇæðü (iv) Åñ•ËØê °·¤æðÙæò×è·¤

(v) Åþæ´SÈ¤Ú ¥çÙZ‚â

·¤æðÇ Ñ

(a) (b) (c) (d)

(A) (i) (iv) (ii) (iii)

(B) (ii) (iii) (iv) (i)

(C) (iii) (v) (i) (ii)

(D) (v) (ii) (iii) (iv)
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35. Match the following :
(a) Adam Smith (i) Real Balance effect
(b) Heckscher-Ohlin (ii) Consumer’s Surplus
(c) E. Von Stackelberg (iii) Division of labour
(d) D. Patinkin (iv) Factor Endowment theory of trade

(v) Iso-profit curve
Code :

(a) (b) (c) (d)
(A) (i) (iii) (iv) (ii)
(B) (ii) (iv) (iii) (i)
(C) (iv) (v) (ii) (iii)
(D) (iii) (iv) (v) (i)

36. Match the following :
(a) Selling costs (i) J.R. Hicks
(b) Kinky Demand Curve (ii) Perfect competition
(c) Substitution effect (iii) E. Chamberlin
(d) Perfect Knowledge (iv) Oligopoly

(v) Absolute Advantage
Code :

(a) (b) (c) (d)
(A) (v) (i) (iii) (iv)
(B) (ii) (iii) (v) (i)
(C) (iii) (iv) (i) (ii)
(D) (i) (ii) (iv) (v)

37. Match the following :
(a) General theory of Employment (i) P. Samuelson

Interest and Money
(b) Surplus value (ii) J.M. Keynes
(c) Revealed Preference theory (iii) Walras
(d) General equilibrium (iv) Harsen

(v) Karl Marx
Code :

(a) (b) (c) (d)
(A) (i) (ii) (iii) (iv)
(B) (ii) (v) (i) (iii)
(C) (iv) (i) (ii) (v)
(D) (iii) (iv) (v) (i)
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35. ×ðÜ ÕñÆæ§üØð Ñ

(a) °Ç× çS×Í (i) ßæSÌçß·¤ â´ÌéÜÙ ÂýÖæß

(b) ãð•âÚ ¥æðã÷çÜÙ (ii) ©ÂÖæð•Ìæ ¥æçÏ•Ø

(c) §ü.  ßæÙ SÅð·ð¤ÜÕ»ü (iii) Ÿæ× ·¤æ çßÖæÁÙ

(d) Çè. ÂçÅ´ç·¤Ù (iv) ÃØæÂæÚ ·¤æ Èñ¤•ÅÚ °‹Çæð×ð‡Å çâhæ´Ì

(v) Iso-ÜæÖ ß·ý¤

·¤æðÇ Ñ
(a) (b) (c) (d)

(A) (i) (iii) (iv) (ii)
(B) (ii) (iv) (iii) (i)
(C) (iv) (v) (ii) (iii)
(D) (iii) (iv) (v) (i)

36. ×ðÜ ÕñÆæ§üØð Ñ

(a) çß·ý¤Ø Üæ»Ì (i) Áð. ¥æÚ. çã•â

(b) ç·´¤·¤è ×æ´» ß·ý¤ (ii) Âê‡æü ÂýçÌSÂÏæü

(c) SÍæÙæÂóæ ÂýÖæß (iii) §ü. ¿ñ•ÕÚçÜÙ

(d) Âê‡æü ™ææÙ (iv) ¥ËÂæçÏ·¤æÚ

(v) ¿Ú× ÜæÖ

·¤æðÇ Ñ
(a) (b) (c) (d)

(A) (v) (i) (iii) (iv)
(B) (ii) (iii) (v) (i)
(C) (iii) (iv) (i) (ii)
(D) (i) (ii) (iv) (v)

37. ×ðÜ ÕñÆæ§üØð Ñ

(a) ÚæðÁ»æÚ, •ØæÁ ÌÍæ ×éÎýæ ·¤æ âæ×æ‹Ø çâhæ‹Ì (i) Âè. âñ•ØéËâÙ

(b) ¥æçÏ•Ø ×êËØ (ii) Áð. °×. ç·¤‹â

(c) ©Î÷ƒææçÅÌ ßÚèØÌæ çâhæ‹Ì (iii) ßæËÚâ

(d) âæ×æ‹Ø â×ÌéËØÌæ (iv) ãæâðüÙ

(v) ·¤æÜü ×æ•âü

·¤æðÇ Ñ
(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)
(B) (ii) (v) (i) (iii)
(C) (iv) (i) (ii) (v)
(D) (iii) (iv) (v) (i)
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38. Match the following :

(a) Inverted U-shaped curve (i) Joan Robinson

(b) Knife edge problem (ii) R.G.D. Allen

(c) Golden Age (iii) Harrod-Domer

(d) Strong ordering (iv) S. Kuznets

(v) P. Samuelson

Code :

(a) (b) (c) (d)

(A) (ii) (i) (iii) (iv)

(B) (i) (ii) (iv) (iii)

(C) (iv) (iii) (i) (v)

(D) (iii) (iv) (ii) (i)

39. Match the following :

(a) Public goods (i) J.A. Schumpeter

(b) Innovations (ii) W. Leontieff

(c) Uncertainty theory of profit (iii) W.W. Rostow

(d) Input-output Analysis (iv) F. Knight

(v) Musgrave

Code :

(a) (b) (c) (d)

(A) (ii) (iii) (i) (iv)

(B) (v) (i) (iv) (ii)

(C) (i) (ii) (iii) (v)

(D) (iii) (iv) (v) (i)

40. Match the following :

(a) Romer, Paul M. (i) Leaving by doing

(b) Lucas, Robert E. Jr. (ii) Research and Development

(c) Arrow, Kenneth J. (iii) Human Capital

(d) Solow, Robert M. (iv) Innovations

(v) Exogenous technical progress

Code :

(a) (b) (c) (d)

(A) (ii) (iii) (i) (v)

(B) (iii) (iv) (ii) (i)

(C) (iv) (ii) (iii) (v)

(D) (i) (v) (iv) (ii)
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38. ×ðÜ ÕñÆæ§üØð Ñ

(a) ©ËÅæ U-¥æ·¤æÚè ß·ý¤ (i) ÁæðÙ ÚæòçÕ‹âÙ

(b) ÏééÚè ·¤è ÏæÚ â×SØæ (ii) ¥æÚ.Áè.Çè. °ÜðÙ

(c) Sßç‡æü× Øé» (iii) ãñÚæðÇ Çæð×Ú

(d) âàæ•Ì ÃØßSÍæÂÙ (iv) °â. ·é¤Áð‡Å÷Á

(v) Âè. âñ•ØéËâÙ

·¤æðÇ Ñ

(a) (b) (c) (d)
(A) (ii) (i) (iii) (iv)
(B) (i) (ii) (iv) (iii)
(C) (iv) (iii) (i) (v)
(D) (iii) (iv) (ii) (i)

39. ×ðÜ ÕñÆæ§üØð Ñ

(a) âæßüÁçÙ·¤ âæ×»ýè (i) Áð.°. àæé´ÂèÅÚ

(b) ÙßÂýßÌüÙ (ii) Ç•Üê. çÜØæð́çÅÈ¤

(c) ÜæÖ ·¤è ¥çÙçà¿ÌÌæ ·¤æ çâhæ‹Ì (iii) Ç•Üê.Ç•Üê. ÚæðSÅæð

(d) ¥æ»Ì-çÙ»üÌ çßàÜðá‡æ (iv) °È¤. Ùæ§Å

(v) ×éS»ýðß

·¤æðÇ Ñ
(a) (b) (c) (d)

(A) (ii) (iii) (i) (iv)
(B) (v) (i) (iv) (ii)
(C) (i) (ii) (iii) (v)
(D) (iii) (iv) (v) (i)

40. ×ðÜ ÕñÆæ§üØð Ñ

(a) Úæð×Ú, ÂæòÜ °×. (i) ·¤ÚÙð ·ð¤ mæÚæ ÀæðÇ¸Ùæ

(b) Üé·¤æâ, ÚæòÕÅü §ü ÁéçÙØÚ (ii) àææðÏ °ß´ çß·¤æâ

(c) °ðÚæð, ·ð¤ÙðÍ Áð. (iii) ×æÙß Âê¡Áè

(d) âæðÜæð, ÚæòÕÅü °×. (iv) ÙßÂýßÌüÙ

(v) ÕçãÁæüÌ Ì·¤Ùè·¤è Âý»çÌ

·¤æðÇ Ñ
(a) (b) (c) (d)

(A) (ii) (iii) (i) (v)
(B) (iii) (iv) (ii) (i)
(C) (iv) (ii) (iii) (v)
(D) (i) (v) (iv) (ii)
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41. Match the following :

(a) Foreign Trade Policy (i) Minimum Support Prices

(b) Industrial Policy (ii) Balanced Budget

(c) Agricultural Policy (iii) Marginal Utility

(d) Fiscal Policy (iv) F E M A

(v) Exim Policy

Code :

(a) (b) (c) (d)

(A) (ii) (i) (iii) (iv)

(B) (v) (iv) (i) (ii)

(C) (i) (ii) (v) (iii)

(D) (iii) (iv) (ii) (i)

42. Match the following :

(a) Cournot Model of Duopoly (i) Hypothetical Compensation

(b) Pareto-Optimality (ii) Limit Pricing

(c) New Welfare School (iii) Limited application

(d) Bain’s Model (iv) Sub-optimal solution

(v) Unlimited application

Code :

(a) (b) (c) (d)

(A) (i) (v) (iv) (iii)

(B) (iv) (iii) (i) (ii)

(C) (iii) (i) (v) (iv)

(D) (ii) (v) (iii) (i)

Note : The remaining questions in this paper are of Assertion and Reasoning Type.
The correct code is to be selected from the four options given below for each
of these questions :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

43. Assertion (A) : Price elasticity on a downward sloping demand curve varies from
point to point.

Reasoning (R) : The elasticity does not depend upon the slope of demand curve.
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41. ×ðÜ ÕñÆæ§üØð Ñ

(a) çßÎðàæ ÃØæÂæÚ ÙèçÌ (i) ‹ØêÙÌ× â×ÍüÙ ×êËØ

(b) ¥æñÎ÷Øæðç»·¤ ÙèçÌ (ii) â´ÌéçÜÌ ÕÁÅ

(c) ·ë¤áèØ ÙèçÌ (iii) âè×æ´Ì ©ÂØæðç»Ìæ

(d) çß•æèØ ÙèçÌ (iv) °È¤. §ü. °×. °.

(v) °ç•Á× ÙèçÌ

·¤æðÇ Ñ

(a) (b) (c) (d)
(A) (ii) (i) (iii) (iv)
(B) (v) (iv) (i) (ii)
(C) (i) (ii) (v) (iii)
(D) (iii) (iv) (iii) (i)

42. ×ðÜ ÕñÆæ§üØð Ñ

(a) ·¤æðÙæðüÅ ·¤æ Çé¥æðÂæðÜè ×æðÇðÜ (i) ÂýæP¤çËÂÌ ÿæçÌÂêçÌü

(b) ÂðÚðÅæð §C×Ìæ (ii) âèç×Ì ·¤è×Ì Ú¹Ùæ

(c) ÙÃØ ·¤ËØæ‡æ ×Ì (iii) âèç×Ì ¥ÙéÂýØéç•Ì

(d) ÕðÙ ·¤æ ×æðÇðÜ (iv) ©Â §cÅÌ× â×æÏæÙ

(v) ¥âèç×Ì ¥ÙéÂýØéç•Ì

·¤æðÇ Ñ

(a) (b) (c) (d)
(A) (i) (v) (iv) (iii)
(B) (iv) (iii) (i) (ii)
(C) (iii) (i) (v) (iv)
(D) (ii) (v) (iii) (i)

ŠØæÙ Îð´ Ñ §â ÂýàÙÂ˜æ ·ð¤ àæðá ÂýàÙ ·¤ÍÙ ¥æñÚ ·¤æÚ‡æ Âý·¤æÚ ·ð¤ ãñ´Ð §Ù×ð´ âð ÂýˆØð·¤ ÂýàÙ ·ð¤ çÜ° Ùè¿ð çÎØð
çß·¤ËÂæð´ ×ð´ âð âãè ·ê¤Å ¿éçÙ° Ñ

·¤æðÇ Ñ

(A) (A) ¥æñÚ (R) ÎæðÙæð´ âãè ãñ´ ÌÍæ (R), (A) ·¤è âãè ÃØæ•Øæ ãñ Ð

(B) (A) ¥æñÚ (R) ÎæðÙæð´ âãè ãñ´ ÂÚ‹Ìé (R), (A) ·¤è âãè ÃØæ•Øæ Ùãè´ ãñ Ð

(C) (A) âãè ãñ, ÂÚ‹Ìé (R) »ÜÌ ãñÐ

(D) (A) »ÜÌ ãñ, ÂÚ‹Ìé (R) âãè ãñÐ

43. ·¤ÍÙ (A) Ñ °·¤ ¥Ïæð»æ×è Úð¹èØ ×æ´» ß·ý  ÂÚ ·¤è×Ì ·¤è Üæð¿ °·¤ çÕ‹Îé âð ÎêâÚð çÕ‹Îé ÂÚ ÕÎÜÌè ÚãÌè ãñÐ

·¤æÚ‡æ (R) Ñ Üæð¿ ×æ´» ß·ý¤ ·ð¤ ÉÜæß ÂÚ çÙÖüÚ Ùãè´ ·¤ÚÌèÐ ¤
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44. Assertion (A) : Stratified random sampling is often used for socio-economic surveys.

Reasoning (R) : Social stratification is a social reality.

45. Assertion (A) : In an open economy with a fixed exchange rate system and constant
internal prices and interest rates, we have :

(i) S=Id=Rs. 100 and X=M=Rs. 300
at YE=Rs. 1000, Id and X are autonomous and

(ii) MPS=MPM=0.25.

If X increases by Rs. 100 permanently, then income would increase by
Rs. 200.

Reasoning (R) : Multiplier is 
MPM 2

1
  

MPS 2
1

= .

46. Assertion (A) : As per the recent Indian experience, a fall in the rate of employment
generation is associated with a fall in the rate of economic growth.

Reasoning (R) : Working of the Okun’s Law.

47. Assertion (A) : When the IS curve is not vertical, monetary policy cannot change the
level of aggregate demand.

Reasoning (R) : Monetary policy depends on the existence of some interest-sensitive
spending for its success.

48. Assertion (A) : According to Kaldor, steady state equilibrium would always exist.

Reasoning (R) : Wage-price flexibility would ensure that savings passively respond to
pre-determined investment via change in distribution.

49. Assertion (A) : In a linear programming problem, one or the other ‘corner-point’
would always be associated with the optimal solution.

Reasoning (R) : Optimal solution cannot be an interior solution.

50. Assertion (A) : Cobb-Douglas production function 
α−α

=

  1
tttt L K A  Y  admits of both

Hicks and Harrod neutrality.

Reasoning (R) : It is homogenous of degree one.

- o O o -
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44. ·¤ÍÙ (A) Ñ SÌçÚÌ â´Øæð»Á‹Ø ÂýçÌ¿ØÙ ·¤æ ©ÂØæð» âæ×æçÁ·¤-¥æçÍü·¤ âßðüÿæ‡ææð´ ×ð´ ÕãéÏæ ç·¤Øæ ÁæÌæ ãñÐ

·¤æÚ‡æ (R) Ñ âæ×æçÁ·¤ SÌÚè·¤Ú‡æ °·¤ âæ×æçÁ·¤ ßæSÌçß·¤Ìæ ãñÐ ¤

45. ·¤ÍÙ (A) Ñ SÍæØè çßçÙ×Ø ÎÚ Âý‡ææÜè ÌÍæ çSÍÚ ¥æ´ÌçÚ·¤ ·¤è×Ì ¥æñÚ •ØæÁ ÎÚ ßæÜè ¹éÜè ¥ÍüÃØßSÍæ ×ð́
ãæðÌæ ãñ Ñ

(i) S=Id=L¤ÂØð 100 ÌÍæ X=M=L¤ÂØð 300

at YE=L¤ÂØð 1000,  Id ÌÍæ X SßæØ•æ ãñ ÌÍæ

(ii) °×.Âè.°â.=°×.Âè.°×=0.25

ØçÎ X SÍæØè M¤Â ×ð´ L¤ÂØð 100 ÕÉ¸ ÁæÌæ ãñ Ìæð ¥æØ L¤ÂØæ 200 ÕÉ¸ ÁæØð»èÐ

·¤æÚ‡æ (R) Ñ »é‡æ·¤ ãñ 
1 1

2  ŒıK‡¦KŒŁK 2  ŒıK‡¦KŒıK
=

46. ·¤ÍÙ (A) Ñ ãæÜ ·ð¤ ÖæÚÌèØ ¥ÙéÖß ·ð¤ ¥ÙéâæÚ ÚæðÁ»æÚ ·ð¤ ¥ßâÚ ©ˆÂóæ ãæðÙð ·¤è ÎÚ ×ð´ ç»ÚæßÅ ·¤æ â´Õ´Ï
¥æçÍü·¤ ßëçh ·¤è ÎÚ ×ð´ ç»ÚæßÅ âð ãñ´Ð

·¤æÚ‡æ (R) Ñ ¥æð·¤Ù ·¤æ çÙØ× ·¤æØü ·¤Ú Úãæ ãñÐ

47. ·¤ÍÙ (A) Ñ ÁÕ ¥æ§ü.°â. ß·ý¤ ©Šßü Ùãè´ ãñ, Ìæð ×æñçÎý·¤ ÙèçÌ â·¤Ü ×æ´» ·ð¤ SÌÚ ·¤æð Ùãè´ ÕÎÜ â·¤ÌèÐ

·¤æÚ‡æ (R) Ñ ¥ÂÙè âÈ¤ÜÌæ ·ð¤ çÜ° ×æñçÎý·¤ ÙèçÌ ç·¤âè çãÌ Øæ L¤ç¿-âæð¿ çß¿æÚ ÃØØ ÂÚ çÙÖüÚ ãñÐ

48. ·¤ÍÙ (A) Ñ ·¤æÜÇæðÚ ·ð¤ ¥ÙéâæÚ çSÍÚ ¥ßSÍæ ßæÜæ â´ÌéÜÙ âÎæ ÕÙæ Úãð»æÐ

·¤æÚ‡æ (R) Ñ ×ÁÎêÚè-·¤è×Ì Ù×ÙèØÌæ Øã âéçÙçà¿Ì ·¤Úð»è ç·¤ çßÌÚ‡æ ×ð´ ÂçÚßÌüÙ ·ð¤ ×æŠØ× âð
Âêßü-çÙÏæüçÚÌ çÙßðàæ ·ð¤ âæÍ Õ¿Ì çÙçc·ý¤Ø ¥Ùéç·ý¤Øæ ·¤ÚÌè ãñÐ

49. ·¤ÍÙ (A) Ñ °·¤ Úñç¹·¤ Âýæð»ýæ×Ù â×SØæ ×ð´ ·¤æð§ü-Ù-·¤æð§ü Ò·¤æð‡æ-çÕ‹ÎéÓ §CÌ× â×æÏæÙ âð â´Õ´çÏÌ ãæð»æÐ

·¤æÚ‡æ (R) Ñ §cÅÌ× â×æÏæÙ °·¤ ¥æ•Øæ´ÌÚ â×æÏæÙ Ùãè´ ãæð â·¤ÌæÐ

50. ·¤ÍÙ (A) Ñ ·¤æòÕ-Çé‚Üæâ ©ˆÂæÎÙ ç·ý¤Øæ

α−α

=

  1
tttt L K A  Y

çã•â ÌÍæ ãñÚæðÇ ÎæðÙæð´ ·¤è çÙcÂÿæÌæ ·¤æð Sßè·¤æÚ ·¤ÚÌè ãñÐ

·¤æÚ‡æ (R) Ñ Øã °·¤ çÇ»ýè ·ð¤ â×ƒææÌ ãñÐ

- o O o -
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Space For Rough Work


